

BID NUMBER - PURCH 2015-113
CONSTRUCTION OF MT. HOPE CONVENIENCE CENTER IMPROVEMENTS
SUNDERLAND, CALVERT COUNTY, MARYLAND

BID COMPARISION

Bidder	Category 1 - General Conditions											
	Item #1-01 Clearing & Grubbing (SHA Sec. 101) (SCS Sec. 02110)			Item #1-02 Mobilization/Demobilization (SHA Sec. 108)			Item #1-03 Maintenance of Traffic (SHA Sec. 104)			Item #1-04 Construction Stake-Out (SHA Sec. 107) (SCS Sec. 01050)		
	Unit Price	Est. Qty. (Acre)	Total	Unit Price	Est. Qty. (LS)	Total	Unit Price	Est. Qty. (LS)	Total	Unit Price	Est. Qty. (LS)	Total
W. M. Davis, Inc.	\$2,940.00	3.2	\$9,408.00	\$8,820.00	1	\$8,820.00	\$21,168.00	1	\$21,168.00	\$22,460.00	1	\$22,460.00
S.E. Davis	\$3,500.00	3.2	\$11,200.00	\$50,000.00	1	\$50,000.00	\$22,000.00	1	\$22,000.00	\$21,275.00	1	\$21,275.00
Rainbow Construction	\$2,750.00	3.2	\$8,800.00	\$290,209.00	1	\$290,209.00	\$22,000.00	1	\$22,000.00	\$21,010.00	1	\$21,010.00
Dennis Anderson Const.	\$10,822.14	3.2	\$34,630.85	\$7,859.32	1	\$7,859.32	\$9,673.01	1	\$9,673.01	\$30,228.17	1	\$30,228.17
J.A. Scheibel	\$2,675.00	3.2	\$8,560.00	\$379,403.81	1	\$379,403.81	\$21,400.00	1	\$21,400.00	\$23,326.00	1	\$23,326.00
Corinthian Contractors	\$4,603.69	3.2	\$14,731.81	\$524,142.12	1	\$524,142.12	\$24,000.00	1	\$24,000.00	\$45,612.00	1	\$45,612.00

Bidder	Category 1 - General Conditions (continued)									Subtotal - Category 1
	Item #1-05 Type "A" Engineer's Office (SHA Sec. 103)			Item #1-06 Pavement Marking (SHA Sec. 549)(CS Sec. 02763)			Item #1-07 Temporary Orange Construction Fence (SHA Sec. 104)			
	Unit Price	Est. Qty. (LS)	Total	Unit Price	Est. Qty. (LS)	Total	Unit Price	Est. Qty. (LF)	Total	
W.M. Davis, Inc.	\$1,200.00	1	\$1,200.00	\$1,900.00	1	\$1,900.00	\$2.95	500	\$1,475.00	\$66,431.00
S.E. Davis	\$11,000.00	1	\$11,000.00	\$1,760.00	1	\$1,760.00	\$2.48	500	\$1,240.00	\$118,475.00
Rainbow Construction	\$50,000.00	1	\$50,000.00	\$1,600.00	1	\$1,600.00	\$2.47	500	\$1,235.00	\$394,854.00
Dennis Anderson Const.	\$6,045.63	1	\$6,045.63	\$4,836.51	1	\$4,836.51	\$3.02	500	\$1,510.00	\$94,783.49
J.A. Scheibel	\$12,840.00	1	\$12,840.00	\$9,381.76	1	\$9,381.76	\$2.41	500	\$1,205.00	\$456,116.57
Corinthian Contractors	\$25,297.90	1	\$25,297.90	\$10,348.80	1	\$10,348.80	\$2.70	500	\$1,350.00	\$645,482.63

Bidder	Category 2 - Excavation											
	Item #2-08 Class 1 Excavation (cut and fill, placement and compaction of on-site fill materials) (SHA Sec. 201) (SCS 02222,02223)			Item #2-09 Class 1-A Excavation (Contingency - cut and removal of deleterious unsuitable onsite materials) (SHA Sec. 201) (SCS Sec. 02222)			Item #2-10 Class 2 Excavation (cut and fill, placement and compaction of onsite fill materials) (SHA Sec. 201) (SCS Sec. 02222 02223)			Item #2-11 Geo-synthetic Stabilized Subgrade Using Graded Aggregate Base (Contingency) (SHA Sec. 211)		
	Unit Price	Est. Qty. (CY)	Total	Unit Price	Est. Qty. (CY)	Total	Unit Price	Est. Qty. (CY)	Total	Unit Price	Est. Qty. (CY)	Total
W.M. Davis, Inc.	\$4.40	8000	\$35,200.00	\$17.65	2000	\$35,300.00	\$3.25	2500	\$8,125.00	\$82.40	300	\$24,720.00
S.E. Davis	\$4.50	8000	\$36,000.00	\$16.50	2000	\$33,000.00	\$3.03	2500	\$7,575.00	\$77.00	300	\$23,100.00
Rainbow Construction	\$4.125	8000	\$33,000.00	\$16.50	2000	\$33,000.00	\$3.025	2500	\$7,562.50	\$77.00	300	\$23,100.00
Dennis Anderson Const.	\$3.21	8000	\$25,680.00	\$22.97	2000	\$45,940.00	\$3.21	2500	\$8,025.00	\$63.12	300	\$18,936.00
J.A. Scheibel	\$4.01	8000	\$32,080.00	\$16.05	2000	\$32,100.00	\$2.94	2500	\$7,350.00	\$74.90	300	\$22,470.00
Corinthian Contractors	\$4.50	8000	\$36,000.00	\$18.00	2000	\$36,000.00	\$4.50	2500	\$11,250.00	\$84.00	300	\$25,200.00

Bidder	Category 2 - Excavation (continued)											
	Item #2-12 Select Borrow (imported backfill for drop-off area; placed and compacted) (SHA Sec. 203) (SCS 02222,02223)			Item #2-13 Common Borrow (Misc. Fill Material) (SHA Sec. 203) (SCS 02222,02223)			Item #2-14 Test Pit Excavation (Contingency) (SHA Sec. 205)			Item #2-15 Removal of Existing Concrete Curb (SHA Sec. 206)		
	Unit Price	Est. Qty. (CY)	Total	Unit Price	Est. Qty. (CY)	Total	Unit Price	Est. Qty. (CY)	Total	Unit Price	Est. Qty. (LF)	Total
W.M. Davis, Inc.	\$16.50	8000	\$132,000.00	\$14.10	2000	\$28,200.00	\$58.80	100	\$5,880.00	\$12.00	150	\$1,800.00
S.E. Davis	\$15.40	8000	\$123,200.00	\$13.20	2000	\$26,400.00	\$55.00	100	\$5,500.00	\$11.00	150	\$1,650.00
Rainbow Construction	\$15.40	8000	\$123,200.00	\$13.20	2000	\$26,400.00	\$55.00	100	\$5,500.00	\$11.00	150	\$1,650.00
Dennis Anderson Const.	\$29.02	8000	\$232,160.00	\$21.16	2000	\$42,320.00	\$42.32	100	\$4,232.00	\$7.86	150	\$1,179.00
J.A. Scheibel	\$14.98	8000	\$119,840.00	\$12.84	2000	\$25,680.00	\$53.50	100	\$5,350.00	\$10.70	150	\$1,605.00
Corinthian Contractors	\$16.80	8000	\$134,400.00	\$14.40	2000	\$28,800.00	\$60.00	100	\$6,000.00	\$12.00	150	\$1,800.00

Bidder	Category 2 - Excavation (continued)						SUBTOTAL - CATEGORY 2
	Item #2-16 Removal of Existing Pavement (SHA Sec. 206)			Item #2-17 Demolition of Existing Salt Dome (SHA Sec. 102) (SCS 02221)			
	Unit Price	Est. Qty. (LS)	Total	Unit Price	Est. Qty. (LS)	Total	
W.M. Davis, Inc.	\$7,056.00	1	\$7,056.00	\$17,500.00	1	\$17,500.00	\$295,781.00
S.E. Davis	\$6,600.00	1	\$6,600.00	\$38,500.00	1	\$38,500.00	\$301,525.00
Rainbow Construction	\$6,600.00	1	\$6,600.00	\$16,287.70	1	\$16,287.70	\$276,300.20
Dennis Anderson Const.	\$17,768.12	1	\$17,768.12	\$33,855.55	1	\$33,855.55	\$430,095.67
J.A. Scheibel	\$6,420.00	1	\$6,420.00	\$15,843.49	1	\$15,843.49	\$268,738.49
Corinthian Contractors	\$7,200.00	1	\$7,200.00	\$17,768.40	1	\$17,768.40	\$304,418.40

Bidder	Category 3 - Stormwater and Erosion Control											
	Stormwater Control											
	Item #3-18 15" Reinforced Concrete Pipe (RCP) (SHA Sec. 303) (SCS 02720)			Item #3-19 18" Reinforced Concrete Pipe (RCP) (SHA Sec. 303) (SCS Sec. 02720)			Item #3-20 24" Reinforced Concrete Pipe (RCP) (SHA Sec. 303) (SCS Sec. 02720)			Item #3-21 24-Inch HDPE Pipe (SHA Sec. 303) (SCS Sec. 02720)		
	Unit Price	Est. Qty. (LF)	Total	Unit Price	Est. Qty. (LF)	Total	Unit Price	Est. Qty. (LF)	Total	Unit Price	Est. Qty. (LF)	Total
W.M. Davis, Inc.	\$68.20	605	\$41,261.00	\$66.00	205	\$13,530.00	\$83.00	50	\$4,150.00	\$65.00	25	\$1,625.00
S.E. Davis	\$63.80	605	\$38,599.00	\$61.60	205	\$12,628.00	\$77.00	50	\$3,850.00	\$60.50	25	\$1,512.50
Rainbow Construction	\$63.80	605	\$38,599.00	\$61.60	205	\$12,628.00	\$77.00	50	\$3,850.00	\$60.50	25	\$1,512.50
Dennis Anderson Const.	\$39.30	605	\$23,776.50	\$48.25	205	\$9,891.25	\$72.38	50	\$3,619.00	\$39.66	25	\$991.50
J.A. Scheibel	\$62.06	605	\$37,546.30	\$59.92	205	\$12,283.60	\$74.90	50	\$3,745.00	\$58.85	25	\$1,471.25
Corinthian Contractors	\$69.60	605	\$42,108.00	\$67.20	205	\$13,776.00	\$84.00	50	\$4,200.00	\$66.00	25	\$1,650.00

Bidder	Category 3 - Stormwater and Erosion Control (continued)											
	Stormwater Control (continued)											
	Item #3-22 Pond Riser Structure (SHA Sec. 305) (SCS 02720)			Item #3-23 Manholes (SHA Sec. 305) (SCS Sec. 02720)			Item #3-24 End-Walls (SHA Sec. 305) (SCS Sec. 02720)			Item #3-25 Trenching (SHA Sec. 301) (SCS Sec. 02222)		
	Unit Price	Est. Qty. (EA)	Total	Unit Price	Est. Qty. (EA)	Total	Unit Price	Est. Qty. (EA)	Total	Unit Price	Est. Qty. (LF)	Total
W.M. Davis, Inc.	\$7,056.00	1	\$7,056.00	\$4,116.00	4	\$16,464.00	\$3,293.00	5	\$16,465.00	\$15.00	885	\$13,275.00
S.E. Davis	\$6,600.00	1	\$6,600.00	\$3,850.00	4	\$15,400.00	\$3,080.00	5	\$15,400.00	\$14.30	885	\$12,655.50
Rainbow Construction	\$6,600.00	1	\$6,600.00	\$3,850.00	4	\$15,400.00	\$3,080.00	5	\$15,400.00	\$14.30	885	\$12,655.50
Dennis Anderson Const.	\$7,847.23	1	\$7,847.23	\$2,882.56	4	\$11,530.24	\$1,792.90	5	\$8,964.50	\$14.51	885	\$12,841.35
J.A. Scheibel	\$6,420.00	1	\$6,420.00	\$3,745.00	4	\$14,980.00	\$2,996.00	5	\$14,980.00	\$13.91	885	\$12,310.35
Corinthian Contractors	\$7,200.00	1	\$7,200.00	\$4,200.00	4	\$16,800.00	\$3,360.00	5	\$16,800.00	\$15.60	885	\$13,806.00

Bidder	Category 3 - Stormwater and Erosion Control (continued)											
	Stormwater Control (continued)									Micro-Bioretention Structures		
	Item #3-26 Inlets (SHA Sec. 305) (SCS 02720)			Item #3-27 Sediment Pond (Northeast) (SCS Sec. 02720)			Item #3-28 Underground Stormwater Storage Facility (SCS Sec. 02720)			Item #3-29 Perforated HDC Pipe (SCS Sec. 02720)		
	Unit Price	Est. Qty. (EA)	Total	Unit Price	Est. Qty. (LS)	Total	Unit Price	Est. Qty. (LS)	Total	Unit Price	Est. Qty. (LF)	Total
W.M. Davis, Inc.	\$5,175.00	4	\$20,700.00	\$17,640.00	1	\$17,640.00	\$194,040.00	1	\$194,040.00	\$11.75	300	\$3,525.00
S.E. Davis	\$4,840.00	4	\$19,360.00	\$16,500.00	1	\$16,500.00	\$181,500.00	1	\$181,500.00	\$11.00	300	\$3,300.00
Rainbow Construction	\$4,840.00	4	\$19,360.00	\$16,500.00	1	\$16,500.00	\$181,500.00	1	\$181,500.00	\$11.00	300	\$3,300.00
Dennis Anderson Const.	\$3,461.73	4	\$13,846.92	\$12,565.25	1	\$12,565.25	\$207,614.33	1	\$207,614.33	\$20.17	300	\$6,051.00
J.A. Scheibel	\$4,708.00	4	\$18,832.00	\$16,050.00	1	\$16,050.00	\$176,550.00	1	\$176,550.00	\$10.70	300	\$3,210.00
Corinthian Contractors	\$5,280.00	4	\$21,120.00	\$18,000.00	1	\$18,000.00	\$198,000.00	1	\$198,000.00	\$12.00	300	\$3,600.00

Bidder	Category 3 - Stormwater and Erosion Control (continued)											
	Micro-Bioretention Structures (continued)											
	Item #3-30 Inlet (SCS 02720)			Item #3-31 Excavation (SCS Sec. 02222)			Item #3-32 Planting Soil (3" Thick Topsoil)			Item #3-33 Geotextile		
	Unit Price	Est. Qty. (EA)	Total	Unit Price	Est. Qty. (CY)	Total	Unit Price	Est. Qty. (SY)	Total	Unit Price	Est. Qty. (SF)	Total
W.M. Davis, Inc.	\$2,940.00	3	\$8,820.00	\$7.00	825	\$5,775.00	\$53.00	472	\$25,016.00	\$0.35	8500	\$2,975.00
S.E. Davis	\$2,750.00	3	\$8,250.00	\$6.60	825	\$5,445.00	\$49.50	472	\$23,364.00	\$0.28	8500	\$2,380.00
Rainbow Construction	\$2,750.00	3	\$8,250.00	\$6.60	825	\$5,445.00	\$49.50	472	\$23,364.00	\$0.275	8500	\$2,337.50
Dennis Anderson Const.	\$3,297.29	3	\$9,891.87	\$22.97	825	\$18,950.25	\$76.85	472	\$36,273.20	\$4.27	8500	\$36,295.00
J.A. Scheibel	\$2,675.00	3	\$8,025.00	\$6.42	825	\$5,296.50	\$48.15	472	\$22,726.80	\$0.27	8500	\$2,295.00
Corinthian Contractors	\$3,000.00	3	\$9,000.00	\$7.20	825	\$5,940.00	\$54.00	472	\$25,488.00	\$0.30	8500	\$2,550.00

Bidder	Category 3 - Stormwater and Erosion Control (continued)											
	Micro-Bioretenention Structures (continued)									Erosion Control		
	Item #3-34 Gravel (SCS 02733)			Item #3-35 Class I Rip Rap (SCS Sec. 311, 312)			Item #3-36 Mulch (3" Thick)			Item #3-37 Super Silt Fence (SHA Sec. 308)(SCS 02250)		
	Unit Price	Est. Qty. (CY)	Total	Unit Price	Est. Qty. (CY)	Total	Unit Price	Est. Qty. (CY)	Total	Unit Price	Est. Qty. (LF)	Total
W.M. Davis, Inc.	\$235.00	52	\$12,220.00	\$118.00	39	\$4,602.00	\$36.00	40	\$1,440.00	\$11.75	420	\$4,935.00
S.E. Davis	\$220.00	52	\$11,440.00	\$110.00	39	\$4,290.00	\$33.00	40	\$1,320.00	\$11.00	420	\$4,620.00
Rainbow Construction	\$220.00	52	\$11,440.00	\$110.00	39	\$4,290.00	\$33.00	40	\$1,320.00	\$11.00	420	\$4,620.00
Dennis Anderson Const.	\$70.13	52	\$3,646.76	\$108.82	39	\$4,243.98	\$66.50	40	\$2,660.00	\$10.58	420	\$4,443.60
J.A. Scheibel	\$214.00	52	\$11,128.00	\$107.00	39	\$4,173.00	\$32.10	40	\$1,284.00	\$10.70	420	\$4,494.00
Corinthian Contractors	\$240.00	52	\$12,480.00	\$120.00	39	\$4,680.00	\$36.00	40	\$1,440.00	\$12.00	420	\$5,040.00

Bidder	Category 3 - Stormwater and Erosion Control (continued)											
	Erosion Control (continued)											
	Item #3-38 Stabilized Construction Entrance (SHA Sec. 308)(SCS 02250)			Item #3-39 Class I Rip Rap (SHA Sec. 308) (SCS Sec. 02250)			Item #3-40 Earth-Dike (SHA Sec. 308) (SCS Sec. 02250)			Item #3-41 Sediment Trap (Northwest) (SHA Sec. 308) (SCS Sec. 02250)		
	Unit Price	Est. Qty. (EA)	Total	Unit Price	Est. Qty. (CY)	Total	Unit Price	Est. Qty. (LF)	Total	Unit Price	Est. Qty. (LS)	Total
W.M. Davis, Inc.	\$1,764.00	2	\$3,528.00	\$118.00	24	\$2,832.00	\$5.00	525	\$2,625.00	\$8,820.00	1	\$8,820.00
S.E. Davis	\$1,650.00	2	\$3,300.00	\$110.00	24	\$2,640.00	\$4.40	525	\$2,310.00	\$8,250.00	1	\$8,250.00
Rainbow Construction	\$1,650.00	2	\$3,300.00	\$110.00	24	\$2,640.00	\$4.40	525	\$2,310.00	\$8,250.00	1	\$8,250.00
Dennis Anderson Const.	\$1,795.56	2	\$3,591.12	\$108.82	24	\$2,611.68	\$3.63	525	\$1,905.75	\$5,881.19	1	\$5,881.19
J.A. Scheibel	\$1,605.00	2	\$3,210.00	\$107.00	24	\$2,568.00	\$4.28	525	\$2,247.00	\$8,025.00	1	\$8,025.00
Corinthian Contractors	\$1,800.00	2	\$3,600.00	\$120.00	24	\$2,880.00	\$4.80	525	\$2,520.00	\$9,000.00	1	\$9,000.00

Bidder	Category 3 - Stormwater and Erosion Control (continued)						
	Erosion Control (continued)						
	Item #3-42 Temporary Gabion Outlet Structure (TGOS) (SHA Sec. 308)(SCS 02250)			Item#3-43 Silt Fence (SHA Sec. 308)(SCS Sec. 02250)			Subtotal - Category 3
	Unit Price	Est. Qty. (EA)	Total	Unit Price	Est. Qty. (LF)	Total	
W.M. Davis, Inc.	\$4,116.00	1	\$4,116.00	\$2.00	3000	\$6,000.00	\$443,435.00
S.E. Davis	\$3,850.00	1	\$3,850.00	\$1.87	3000	\$5,610.00	\$414,374.00
Rainbow Construction	\$3,850.00	1	\$3,850.00	\$1.87	3000	\$5,610.00	\$414,331.50
Dennis Anderson Const.	\$3,603.20	1	\$3,603.20	\$1.33	3000	\$3,990.00	\$457,526.67
J.A. Scheibel	\$3,745.00	1	\$3,745.00	\$1.82	3000	\$5,460.00	\$403,055.80
Corinthian Contractors	\$4,200.00	1	\$4,200.00	\$2.04	3000	\$6,120.00	\$451,998.00

Bidder	Category 4 - Structures											
	Item #4-44 Office (14x24) (SCS Sec. 15010,15080,15400,15700)			Item #4-45 Guard-booth, pre-fabricated (SCS 1150,1600,3100, 3200,3300)			Item #4-46 Canopy Roofs Over Concrete Pads, Recycling & HHW Holding			Item #4-47 Concrete Pads, Recycling & HHW Holding (20'x45' and 30'x30') (SCS 3100, 3200, 3300)		
	Unit Price	Est. Qty. (LS)	Total	Unit Price	Est. Qty. (LS)	Total	Unit Price	Est. Qty. (SF)	Total	Unit Price	Est. Qty. (SY)	Total
W.M. Davis, Inc.	\$80,866.00	1	\$80,866.00	\$16,670.00	1	\$16,670.00	\$26.00	1800	\$46,800.00	\$71.00	200	\$14,200.00
S.E. Davis	\$105,000.00	1	\$105,000.00	\$18,850.00	1	\$18,850.00	\$23.00	1800	\$41,400.00	\$61.60	200	\$12,320.00
Rainbow Construction	\$95,001.71	1	\$95,001.71	\$20,014.50	1	\$20,014.50	\$27.99	1800	\$50,382.00	\$107.25	200	\$21,450.00
Dennis Anderson Const.	\$105,798.60	1	\$105,798.60	\$21,568.40	1	\$21,568.40	\$22.60	1800	\$40,680.00	\$187.41	200	\$37,482.00
J.A. Scheibel	\$115,222.95	1	\$115,222.95	\$24,678.48	1	\$24,678.48	\$34.88	1800	\$62,784.00	\$178.78	200	\$35,756.00
Corinthian Contractors	\$115,733.63	1	\$115,733.63	\$17,056.67	1	\$17,056.67	\$74.15	1800	\$133,470.00	\$240.00	200	\$48,000.00

Bidder	Category 4 - Structures (continued)											
	Item #4-48 Gravel Base for Concrete Pads (SCS Sec. 02223)			Item #4-49 Retaining Wall (High) (SCS 3100, 3200, 3300)			Item #4-50 Retaining Wall (Low) (SCS 3100, 3200, 3300)			Item #4-51 Canopy Cover for Low Wall		
	Unit Price	Est. Qty. (SY)	Total	Unit Price	Est. Qty. (LF)	Total	Unit Price	Est. Qty. (LF)	Total	Unit Price	Est. Qty. (LS)	Total
W.M. Davis, Inc.	\$9.50	200	\$1,900.00	\$340.00	339	\$115,260.00	\$175.00	270	\$47,250.00	\$14,112.00	1	\$14,112.00
S.E. Davis	\$13.20	200	\$2,640.00	\$400.00	339	\$135,600.00	\$260.00	270	\$70,200.00	\$7,300.00	1	\$7,300.00
Rainbow Construction	\$19.80	200	\$3,960.00	\$346.50	339	\$117,463.50	\$247.50	270	\$66,825.00	\$15,977.50	1	\$15,977.50
Dennis Anderson Const.	\$17.76	200	\$3,552.00	\$553.49	339	\$187,633.11	\$169.07	270	\$45,648.90	\$9,630.70	1	\$9,630.70
J.A. Scheibel	\$15.72	200	\$3,144.00	\$511.90	339	\$173,534.10	\$169.43	270	\$45,746.10	\$17,173.50	1	\$17,173.50
Corinthian Contractors	\$14.68	200	\$2,936.00	\$581.04	339	\$196,972.56	\$184.68	270	\$49,863.60	\$17,069.50	1	\$17,069.50

Bidder	Category 4 - Structures (continued)									
	Item #4-52 Compactor Inlet			Item #4-53 Oil/Water Separators			Item #4-54 Signs			Subtotal - Category 4
	Unit Price	Est. Qty. (EA)	Total	Unit Price	Est. Qty. (EA)	Total	Unit Price	Est. Qty. (LS)	Total	
W.M. Davis, Inc.	\$2,500.00	4	\$10,000.00	\$17,700.00	2	\$35,400.00	\$6,728.00	1	\$6,728.00	\$389,186.00
S.E. Davis	\$4,620.00	4	\$18,480.00	\$23,400.00	2	\$46,800.00	\$6,300.00	1	\$6,300.00	\$464,890.00
Rainbow Construction	\$1,650.00	4	\$6,600.00	\$16,483.50	2	\$32,967.00	\$5,721.00	1	\$5,721.00	\$436,362.21
Dennis Anderson Const.	\$2,539.17	4	\$10,156.68	\$18,136.90	2	\$36,273.80	\$5,765.12	1	\$5,765.12	\$504,189.31
J.A. Scheibel	\$4,494.00	4	\$17,976.00	\$22,804.91	2	\$45,609.82	\$4,690.88	1	\$4,690.88	\$546,315.83
Corinthian Contractors	\$3,755.76	4	\$15,023.04	\$22,854.59	2	\$45,709.18	\$5,260.80	1	\$5,260.80	\$647,094.98

Bidder	Category 5 - Paving and Base											
	Item #5-55 Asphalt Pavement (roads/parking) (5" thickness) (SHA Sec.504)(SCS Sec. 02740)			Item #5-56 Gravel Base for Asphalt (8" layer thickness) (SHA Sec. 501)(SCS 02233)			Item #5-57 Asphalt Pavement in SHA ROW (8" thickness) (SHA Sec. 504) (SCS 02740)			Item #5-58 Gravel Base for SHA ROW (12" Thickness) (SHA Sec.501) (SCS 02233)		
	Unit Price	Est. Qty. (SY)	Total	Unit Price	Est. Qty. (SY)	Total	Unit Price	Est. Qty. (SY)	Total	Unit Price	Est. Qty. (SY)	Total
W.M. Davis, Inc.	\$27.60	5000	\$138,000.00	\$12.60	5000	\$63,000.00	\$49.40	200	\$9,880.00	\$18.80	200	\$3,760.00
S.E. Davis	\$26.20	5000	\$131,000.00	\$12.00	5000	\$60,000.00	\$46.50	200	\$9,300.00	\$17.60	200	\$3,520.00
Rainbow Construction	\$25.85	5000	\$129,250.00	\$11.77	5000	\$58,850.00	\$46.20	200	\$9,240.00	\$17.60	200	\$3,520.00
Dennis Anderson Const.	\$33.86	5000	\$169,300.00	\$13.72	5000	\$68,600.00	\$62.63	200	\$12,526.00	\$22.25	200	\$4,450.00
J.A. Scheibel	\$27.15	5000	\$135,750.00	\$16.59	5000	\$82,950.00	\$41.38	200	\$8,276.00	\$24.61	200	\$4,922.00
Corinthian Contractors	\$27.76	5000	\$138,800.00	\$18.60	5000	\$93,000.00	\$46.54	200	\$9,308.00	\$27.60	200	\$5,520.00

Bidder	Category 5 - Paving and Base (continued)						Subtotal - Category 5
	Item #5-59 Milling for Existing Road (SHA Sec.508)			Item #5-60 Wearing Course over Existing Road (SHA Sec. 504)(SCS 02740)			
	Unit Price	Est. Qty. (SY)	Total	Unit Price	Est. Qty. (SY)	Total	
W.M. Davis, Inc.	\$3.00	700	\$2,100.00	\$8.50	700	\$5,950.00	\$222,690.00
S.E. Davis	\$3.00	700	\$2,100.00	\$8.00	700	\$5,600.00	\$211,520.00
Rainbow Construction	\$2.75	700	\$1,925.00	\$7.98	700	\$5,586.00	\$208,371.00
Dennis Anderson Const.	\$13.54	700	\$9,478.00	\$10.88	700	\$7,616.00	\$271,970.00
J.A. Scheibel	\$9.17	700	\$6,419.00	\$8.24	700	\$5,768.00	\$244,085.00
Corinthian Contractors	\$6.52	700	\$4,564.00	\$8.26	700	\$5,782.00	\$256,974.00

Bidder	Category 6 - Concrete and Fencing											
	Item #6-61 Curbing (SHA Sec.602)(SCS 3100-3300)			Item 6-62 Concrete Median (SHA Sec. 602)(SCS 3100-3300)			Item #6-63 Concrete Pavement for Bays/Ramps (6" slab thickness) (SHA Sec.520) (SCS 3100,3200,3300)			Item #6-64 Gravel Base for Pavement (6" Layer Thickness) (SHA Sec.501) (SCS 02233)		
	Unit Price	Est. Qty. (LF)	Total	Unit Price	Est. Qty. (LS)	Total	Unit Price	Est. Qty. (SY)	Total	Unit Price	Est. Qty. (SY)	Total
W.M. Davis, Inc.	\$15.90	2900	\$46,110.00	\$16,464.00	1	\$16,464.00	\$66.00	530	\$34,980.00	\$9.50	530	\$5,035.00
S.E. Davis	\$14.85	2900	\$43,065.00	\$15,400.00	1	\$15,400.00	\$61.60	530	\$32,648.00	\$8.80	530	\$4,664.00
Rainbow Construction	\$14.85	2900	\$43,065.00	\$15,400.00	1	\$15,400.00	\$61.60	530	\$32,648.00	\$8.80	530	\$4,664.00
Dennis Anderson Const.	\$20.28	2900	\$58,812.00	\$21,764.28	1	\$21,764.28	\$68.44	530	\$36,273.20	\$10.88	530	\$5,766.40
J.A. Scheibel	\$17.12	2900	\$49,648.00	\$16,777.60	1	\$16,777.60	\$67.41	530	\$35,727.30	\$12.84	530	\$6,805.20
Corinthian Contractors	\$18.60	2900	\$53,940.00	\$12,000.00	1	\$12,000.00	\$60.00	530	\$31,800.00	\$14.40	530	\$7,632.00

Bidder	Category 6 - Concrete and Fencing (continued)											
	Item #6-65 Concrete Sidewalk (SHA Sec.603)(SCS 3100,3200,3300)			Item 6-66 Gravel Base for Sidewalks (SHA Sec. 501)(SCS 02233)			Item #6-67 Fencing (SHA Sec.607) (SCS 02821)			Item #6-68 Gates (SHA Sec.607) (SCS 02821)		
	Unit Price	Est. Qty. (SF)	Total	Unit Price	Est. Qty. (SF)	Total	Unit Price	Est. Qty. (LF)	Total	Unit Price	Est. Qty. (EA)	Total
W.M. Davis, Inc.	\$5.90	2700	\$15,930.00	\$1.10	2700	\$2,970.00	\$23.50	1500	\$35,250.00	\$2,600.00	4	\$10,400.00
S.E. Davis	\$5.50	2700	\$14,850.00	\$1.10	2700	\$2,970.00	\$24.59	1500	\$36,885.00	\$3,382.50	4	\$13,530.00
Rainbow Construction	\$5.50	2700	\$14,850.00	\$0.99	2700	\$2,673.00	\$18.10	1500	\$27,150.00	\$1,733.33	4	\$6,933.32
Dennis Anderson Const.	\$4.79	2700	\$12,933.00	\$1.21	2700	\$3,267.00	\$20.15	1500	\$30,225.00	\$2,409.79	4	\$9,639.16
J.A. Scheibel	\$6.69	2700	\$18,063.00	\$1.61	2700	\$4,347.00	\$24.23	1500	\$36,345.00	\$1,686.05	4	\$6,744.20
Corinthian Contractors	\$5.58	2700	\$15,066.00	\$1.80	2700	\$4,860.00	\$19.74	1500	\$29,610.00	\$1,890.90	4	\$7,563.60

Bidder	Category 6 - Concrete and Fencing (continued)
	SUBTOTAL - CATEGORY 6
W.M. Davis, Inc.	\$167,139.00
S.E. Davis	\$164,012.00
Rainbow Construction	\$147,383.32
Dennis Anderson Const.	\$178,680.04
J.A. Scheibel	\$174,457.30
Corinthian Contractors	\$162,471.60

Bidder	Category 7 - Landscaping and Stabilization											
	Item #7-69 Placing Onsite Stockpiled Topsoil (6-Inch Depth) (SHA Sec.701)(SCS 02900)			Item #7-70 Placing Furnished by Contractor Topsoil (6-Inch Depth) (SHA Sec.701)(SCS 02900)			Item #7-71 Temporary Seeding (SHA Sec. 704, 308) (SCS 02900)			Item #7-72 Temporary Straw Mulching (SHA Sec. 704, 308) (SCS 02900)		
	Unit Price	Est. Qty. (SY)	Total	Unit Price	Est. Qty. (SY)	Total	Unit Price	Est. Qty. (LB)	Total	Unit Price	Est. Qty. (SY)	Total
W.M. Davis, Inc.	\$8.80	600	\$5,280.00	\$15.30	600	\$9,180.00	\$9.50	400	\$3,800.00	\$1.50	7500	\$11,250.00
S.E. Davis	\$8.25	600	\$4,950.00	\$14.30	600	\$8,580.00	\$8.80	400	\$3,520.00	\$1.38	7500	\$10,350.00
Rainbow Construction	\$8.25	600	\$4,950.00	\$14.30	600	\$8,580.00	\$8.80	400	\$3,520.00	\$1.38	7500	\$10,350.00
Dennis Anderson Const.	\$1.33	600	\$798.00	\$6.87	600	\$4,122.00	\$3.45	400	\$1,380.00	\$0.54	7500	\$4,050.00
J.A. Scheibel	\$8.03	600	\$4,818.00	\$13.91	600	\$8,346.00	\$8.56	400	\$3,424.00	\$1.34	7500	\$10,050.00
Corinthian Contractors	\$9.00	600	\$5,400.00	\$15.60	600	\$9,360.00	\$9.60	400	\$3,840.00	\$1.50	7500	\$11,250.00

Bidder	Category 7 - Landscaping and Stabilization (continued)											
	Item #7-73 Turfgrass Establishment (Site Restoration Permanent Seeding and Mulching) (SHA Sec.705)(SCS 02900)			Item #7-74 Refertilizing (SHA Sec.716)(SCS 02900)			Item #7-75 Turfgrass Sod Establishment (SHA Sec.708, 308) (SCS 02900)			Item #7-76 Type A Soil Stabilization Matting (SHA Sec.709,308) (SCS 02900)		
	Unit Price	Est. Qty. (SY)	Total	Unit Price	Est. Qty. (LB)	Total	Unit Price	Est. Qty. (SY)	Total	Unit Price	Est. Qty. (SY)	Total
W.M. Davis, Inc.	\$1.90	7500	\$14,250.00	\$3.50	400	\$1,400.00	\$7.10	1000	\$7,100.00	\$6.00	1000	\$6,000.00
S.E. Davis	\$1.76	7500	\$13,200.00	\$3.30	400	\$1,320.00	\$6.60	1000	\$6,600.00	\$5.50	1000	\$5,500.00
Rainbow Construction	\$1.73	7500	\$12,975.00	\$3.30	400	\$1,320.00	\$6.60	1000	\$6,600.00	\$5.50	1000	\$5,500.00
Dennis Anderson Const.	\$1.21	7500	\$9,075.00	\$12.09	400	\$4,836.00	\$12.09	1000	\$12,090.00	\$4.66	1000	\$4,660.00
J.A. Scheibel	\$1.71	7500	\$12,825.00	\$3.21	400	\$1,284.00	\$6.42	1000	\$6,420.00	\$5.35	1000	\$5,350.00
Corinthian Contractors	\$1.92	7500	\$14,400.00	\$3.60	400	\$1,440.00	\$7.20	1000	\$7,200.00	\$6.00	1000	\$6,000.00

Bidder	Category 7 - Landscaping and Stabilization (continued)			Subtotal - Category 7
	Item #7-77 Landscaping (trees) (SHA Sec.710)(SCS 02900)			
	Unit Price	Est. Qty. (LS)	Total	
W.M. Davis, Inc.	\$23,960.00	1	\$23,960.00	\$82,220.00
S.E. Davis	\$22,000.00	1	\$22,000.00	\$76,020.00
Rainbow Construction	\$35,183.50	1	\$35,183.50	\$88,978.50
Dennis Anderson Const.	\$54,410.71	1	\$54,410.71	\$95,421.71
J.A. Scheibel	\$56,794.53	1	\$56,794.53	\$109,311.53
Corinthian Contractors	\$56,054.40	1	\$56,054.40	\$114,944.40

Bidder	Category 8 - Utility Connections						Subtotal - Category 8
	Item #8-78 Utility Connections (Electrical, Communications, Water, Sewer)			Item #8-79 Exterior Lighting (SCS 16550)			
	Unit Price	Est. Qty. (LS)	Total	Unit Price	Est. Qty. (EA)	Total	
W.M. Davis, Inc.	\$6,100.00	1	\$6,100.00	\$3,070.00	18	\$55,260.00	\$61,360.00
S.E. Davis	\$7,150.00	1	\$7,150.00	\$3,960.00	18	\$71,280.00	\$78,430.00
Rainbow Construction	\$4,620.00	1	\$4,620.00	\$4,785.00	18	\$86,130.00	\$90,750.00
Dennis Anderson Const.	\$9,068.45	1	\$9,068.45	\$4,352.86	18	\$78,351.48	\$87,419.93
J.A. Scheibel	\$9,501.60	1	\$9,501.60	\$4,734.75	18	\$85,225.50	\$94,727.10
Corinthian Contractors	\$9,240.00	1	\$9,240.00	\$5,220.00	18	\$93,960.00	\$103,200.00

Bidder	Category 10 - Water & Sewer											
	Item #10-80 Waterline			Item #10-81 Sanitary Line			Item #10-82 Septic Tank (2,000 Gal.)			Item #10-83 Sanitary Chamber Tank (1,500 Gal.)		
	Unit Price	Est. Qty. (LF)	Total	Unit Price	Est. Qty. (LF)	Total	Unit Price	Est. Qty. (LS)	Total	Unit Price	Est. Qty. (LS)	Total
W.M. Davis, Inc.	\$33.00	500	\$16,500.00	\$33.00	100	\$3,300.00	\$6,468.00	1	\$6,468.00	\$18,228.00	1	\$18,228.00
S.E. Davis	\$30.80	500	\$15,400.00	\$30.80	100	\$3,080.00	\$6,050.00	1	\$6,050.00	\$17,050.00	1	\$17,050.00
Rainbow Construction	\$30.80	500	\$15,400.00	\$30.80	100	\$3,080.00	\$6,050.00	1	\$6,050.00	\$17,050.00	1	\$17,050.00
Dennis Anderson Const.	\$42.32	500	\$21,160.00	\$24.18	100	\$2,418.00	\$6,019.03	1	\$6,019.03	\$18,136.90	1	\$18,136.90
J.A. Scheibel	\$29.96	500	\$14,980.00	\$29.96	100	\$2,996.00	\$5,885.00	1	\$5,885.00	\$16,585.00	1	\$16,585.00
Corinthian Contractors	\$33.60	500	\$16,800.00	\$33.60	100	\$3,360.00	\$19,800.00	1	\$19,800.00	\$24,000.00	1	\$24,000.00

Bidder	Category 10 - Water & Sewer (continued)			Subtotal - Category 10
	Item #10-84 Utility Connections (Water & Sewer) (SCS 02515)			
	Unit Price	Est. Qty. (LS)	Total	
W.M. Davis, Inc.	\$5,880.00	1	\$5,880.00	\$50,376.00
S.E. Davis	\$4,400.00	1	\$4,400.00	\$45,980.00
Rainbow Construction	\$5,500.00	1	\$5,500.00	\$47,080.00
Dennis Anderson Const.	\$6,045.63	1	\$6,045.63	\$53,779.56
J.A. Scheibel	\$5,350.00	1	\$5,350.00	\$45,796.00
Corinthian Contractors	\$6,000.00	1	\$6,000.00	\$69,960.00

Bidder	Category 11 - Compactor Equipment											
	Item #11-85 Recycling Compactor Furnish and Install (Marathon Equip Co RJ2505SC, 32 CY)			Item #11-86 Trash Compactor Furnish and Install (Marathon Equip Co RJ2505SC, 32 CY)			Item #11-87 Recycling Compactor Switch-Out Unit (Marathon Equip Co RJ2505SC, 32 CY)			Item #11-88 Trash Compactor Switch-Out Unit (Marathon Equip Co RJ2505SC, 32 CY)		
	Unit Price	Est. Qty. (LS)	Total	Unit Price	Est. Qty. (LS)	Total	Unit Price	Est. Qty. (LS)	Total	Unit Price	Est. Qty. (LS)	Total
W.M. Davis, Inc.	--	2	\$64,100.00	--	2	\$67,845.00	--	2	\$55,860.00	--	2	\$52,600.00
S.E. Davis	--	2	\$54,120.00	--	2	\$56,584.00	--	2	\$49,465.00	--	2	\$46,453.00
Rainbow Construction	--	2	\$57,957.90	--	2	\$60,312.00	--	0	\$47,216.40	--	2	\$44,341.50
Dennis Anderson Const.	--	2	\$69,301.10	--	2	\$72,396.47	--	2	\$58,857.88	--	2	\$55,547.29
J.A. Scheibel	--	2	\$63,983.86	--	2	\$65,805.00	--	2	\$48,115.76	--	2	\$45,186.10
Corinthian Contractors	--	2	\$69,779.86	--	2	\$72,631.68	--	2	\$57,199.30	--	2	\$53,716.56

Bidder	Category 11 - Compactor Equipment
	Subtotal - Category 11
W.M. Davis, Inc.	\$240,405.00
S.E. Davis	\$206,622.00
Rainbow Construction	\$209,827.80
Dennis Anderson Const.	\$256,102.74
J.A. Scheibel	\$223,090.72
Corinthian Contractors	\$253,327.40

Bidder	Category 12 - Additional Work Allowances			Subtotal - Category 12
	Item #12-89 Unanticipated Additional Work Allowance			
	Unit Price	Est. Qty. (LS)	Total	
W.M. Davis, Inc.	--	--	\$250,000.00	\$250,000.00
S.E. Davis	--	--	\$250,000.00	\$250,000.00
Rainbow Construction	--	--	\$250,000.00	\$250,000.00
Dennis Anderson Const.	--	--	\$250,000.00	\$250,000.00
J.A. Scheibel	--	--	\$250,000.00	\$250,000.00
Corinthian Contractors	--	--	\$250,000.00	\$250,000.00

Bidder	SUMMARY OF COSTS					
	Category 1 General Conditions	Category 2 Excavation	Category 3 Stormwater & Erosion Control	Category 4 Structures	Category 5 Paving & Base	Category 6 Concrete and Fencing
W.M. Davis, Inc.	\$66,431.00	\$295,781.00	\$443,435.00	\$389,186.00	\$222,690.00	\$167,139.00
S.E. Davis	\$118,475.00	\$301,525.00	\$414,374.00	\$464,890.00	\$211,520.00	\$164,012.00
Rainbow Construction	\$394,854.00	\$276,300.20	\$414,331.50	\$436,362.21	\$208,371.00	\$147,383.32
Dennis Anderson Const.	\$94,783.49	\$430,095.67	\$457,526.67	\$504,189.31	\$271,970.00	\$178,680.04
J.A. Scheibel	\$456,116.57	\$268,738.49	\$403,055.80	\$546,315.83	\$244,085.00	\$174,457.30
Corinthian Contractors	\$645,482.63	\$304,418.40	\$451,998.00	\$647,094.98	\$256,974.00	\$162,471.60

Bidder	SUMMARY OF COSTS					
	Category 7 Landscaping and Stabilization	Category 8 Utility Connections	Category 10 Water & Sewer	Category 11 Compactor Equipment	Category 12 Additional Work Allowance	CONTRACT TOTAL COST
W.M. Davis, Inc.	\$82,220.00	\$61,360.00	\$50,376.00	\$240,405.00	\$250,000.00	\$2,269,023.00
S.E. Davis	\$76,020.00	\$78,430.00	\$45,980.00	\$206,622.00	\$250,000.00	\$2,331,848.00
Rainbow Construction	\$88,978.50	\$90,750.00	\$47,080.00	\$209,827.80	\$250,000.00	\$2,564,238.53
Dennis Anderson Const.	\$95,421.71	\$87,419.93	\$53,779.56	\$256,102.74	\$250,000.00	\$2,679,969.12
J.A. Scheibel	\$109,311.53	\$94,727.10	\$45,796.00	\$223,090.72	\$250,000.00	\$2,815,694.34
Corinthian Contractors	\$114,944.40	\$103,200.00	\$69,960.00	\$253,327.40	\$250,000.00	\$3,259,871.41